BEFORE YOU GET
STARTED...

We're confident you'll love your gorgeous new Next
furniture. However, it’s worth making absolutely certain
before you put it all together.

So, let’s quickly run through these three steps:

1.COLOUR

Make sure you're happy with the colour
No need to unpack everything, just check the first component.

2. PROTECTIVE PACKAGING

If you're happy, then it's time to get opening! Start by laying everything out
on the protective packaging — this will prevent anything getting scratched.

3. PARTS PAGE

Finally, double check you have all the pieces by referencing
the parts page of the instructions.

TIPS FOR RETURNS
Not completely happy with the product? No problem.

We just need everything back in the original packaging, so follow the steps below
and this will ensure a super-smooth returns process and no delay to your refund.

o ¥ DON'T [

® Check everything is there (the ‘parts page’ ® Leave anything assembled -
is a handy checklist). all components should be dismantled

- . : and separately packed.
® Pop all the loose fittings and fixtures into

the packaging provided or tie them up in a e Put loose fixtures and fittings straight

plastic bag. into the box.

® Wrap all the big components back e Throw it back in the box carelessly —
up in the original protective packaging. as it may get damaged.

® Close up the box and seal it securely E
(don’t be afraid to use plenty of tape). m ( ;><

HOME

Then just give us a call on 0333 777 8999 and we'll sort out a pick up time for you.



JOSEPHINE LOW FOOTEND BED SUPERKING

nexe
Assembly instructions

Need Help?




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc ™

Assembly instructions

Components supplied. Please use this guide if you require replacement parts.

Ref Dimensions Qty [Ctn Ref Dimensions Visual | Qty [Ctn
4
1 Headboard 1 1 6 Brackets NS 2 3
Support legs
2 Footboard 112 ! (147mm-242mm) ﬁ 2|3
3 Side rail 1 3 8 | Footboard Leg (L) m 1 3
4 Side rail 1 3 9 | Footboard Leg (R) ﬁﬂ 1 3
5 Center Support 2 3 10 Slats / 32 | 4




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc ™

Assembly mstructlons

20 30 80 90 100 110 120
’

+ | (O

A (g

o

Ref Dimensions | Qty
A M8x18 4
B M5 2
C M8x20 10
D M8x40 2
E M8x19 12
F M6x13 8
G M6x35
H M6x40

M8
J J25x5

g —

NOT SUPPLIED




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc
Assembly instructions
n

AX4 w8x18mm Cx4 wsx2om | Ex4  wsxiomm JX4 325« 5mm

| @MY | & -

PH2 Hx4 w6x40mm Fx4 wex13m

l @ sy 0es)

not supplied




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc ™

Assembly instructions

(I %

not supplied




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc ™

Assembly instructions

IE i{ °

PH2 Gx4 M6x35mm DXx2 wsx40mm Fx4 w6x13m Ex2 wsxi9mm

l@ (O ) (((((((((((((((((((((((((((((((((((((((« )

PH2 | CX4 wm8x20mm Ex4 wsxi9mm Ix4 s

1D oy &

not supplied




JOSEPHINE LOW FOOTEND BED SUPERKING

Nexc ™

Assembly instructions




JOSEPHINE LOW FOOTEND BED SUPERKING






